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QUESTION 1

Which command is run to make changes permanent and survive a reload after executing the command "copy
disk0:config-file.txt running-config"? 

A. Commit Confirm 

B. Commit Copy 

C. Command not require, changes are committed automatically 

D. Commit 

Correct Answer: D 

 

QUESTION 2

What is the default MP-BGP address-family on IOS-XR? 

A. IPv6 unicast 

B. There is no default address-family 

C. IPv4 unicast 

D. VPNv4 

Correct Answer: B 

 

QUESTION 3

Which method or protocol exchanges label information? 

A. MP-BGP 

B. MOSPF 

C. LSR 

D. OSPFv3 

Correct Answer: A 

 

QUESTION 4

Which command is similar to the Unix TOP command to display process utilization information? 

A. show 
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B. trace processes 

C. show process dynamic 

D. monitor processes 

Correct Answer: D 

 

QUESTION 5

One of your peers show in the SHOW BGP VPNV4 UNICAST SUMMARY output What is the cause of this? 

A. The label value ranges are mismatched. 

B. The peer has no prefixes with a Route-Target that the local router is importing. 

C. The BGP prefixes between the routers have not fully converged and will correct itself in time. 

D. The peer router is not configured to use the VPNv4 address-family for this connection. 

Correct Answer: D 
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